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('C) (m/s) A &IH EN S JZ (°C)
= Rl EES 0 9 f 1 2 T 50F T00O0m (06~18h) (18~%06h) | B | B | (m) [ O9WF[ 210F
120.4 | 8.2 [15.4 |ssw 5.7 |SW 8.0 |SW 11.8 |sw 10. 3 |2 — G = — IR F1 | 4.3 [30.0 [-1.7 | 5.4
2020.1 |10.4 [15.3 |sw 11.8 |sw 7.0 |NNE 2.1 [SSW  30.3 |mwrem, xmaits [meem, xmass | F2 L 0.1 ] 6.0 7.1 ] 3.3
3§14.5 | 8.5 |11.0 |E 3.1 |E 3.0 |E 4.1 |E 2.6 | =% BN H2 | 5.9 [20.0 | 9.3 | 4.9
411.4 | 7.0 | 9.0 |ENE 2.6 [N 3.0 |NNE 2.1 [SSE 4.1 | BB 2% 5§ 0.7 [15.0 | 7.7 | 0.8
5011.1 | 6.8 | 9.0 |N 3.1 [N 4.0 IN 3.1 [s 18.0 |fi—ms4 MR L3fool30]-02]19
6§20.0 [10.6 |14.6 |ESE 1.5 [SSE 3.0 [Ssw 3.6 |WNW 3.6 M2 2 I H2 6.8 50] 43|52
71179 | 7.5 12.1 [N 5.2 |NNE 3.0 |E 5.7 |W 3.6 |2%N B F3 ] o.0[12.0] 46| 6.5
8l12.5 | 6.2 | 8.9 |ENE 3.1 |E 5.0 |E 5.2 |NNE 1.5 |fems NS H3 J11.8 [25.0 |10.8 | 6.8
9f14.8 | 7.6 [10.9 |E 3.1 |ESE 3.0 |SSE 4.1 |sw 7.2 |2 W W5 | 5.1 [15.0 | 7.6 | 5.1
10019.9 [10.4 |14.9 |N 2.6 |ENE 3.0 |SSE 5.2 S 8.7 |ty 2o 2 —iy [ 2 —mg | 05 | 5.5 |15.0 | 6.5 | 5.3
11]23.3 [14.3116.9 |N 2.1 [ESE 3.0 |W 1.5 |W 51 | i i F2 5.3 10.0]39] 29
12014.7 | 6.0 | 8.7 [NNE 4.1 |NNE 5.0 |NNE 4.6 |E 15.4 |fH [B§] 2oofs8of| 27|14
13]20.0 | 6.6 |15.3 [SSE 2.1 |s 4.0 |SsW 5.7 |NNW 3.1 |HER LN [EER R Lt s59f2so0] 1.4 1.3
14]18.1 [10.7 ]13.3 |N 4.6 |SE 4.0 |ESE 2.1 |Nw 13.4 Wiy x 2 FE & 2 HI | 2.7 [30.0 [11.3 ]| 7.1
15010.8 | 5.5 | 6.9 [NNE 3.1 INE 2.0 |ENE 2.6 |Nw 5.1 |/ 5§] L3 00100 45| 5.6
6] 7.5 | 2.6 | 4.6 [NNE 4.1 |NE 3.0 |NE 3.1 |\NNE 6.2 |—WE4L [FN—WRemEd | L3 | 0.0 [10.0 | 7.4 | 5.2
17412.9 1.6 6.4 |NNE 4.1 IN 6.0 |ESE 3.6 IN 14. 4 |zwsemumn, nensws |eeseman, senzeps | L3 5.2 |15.0 2.0 1.4
18§16.8 | 6.8 |11.6 |ENE 2.1 |ESE 3.0 |SSE 2.6 |Nw 9.3 |FE#%iEE I 7% A H2 | 9.6 [15.0 | 6.6 | 5.4
19020.5 | 9.7 |14.8 [ENE 1.5 |SE 3.0 |sw 4.6 |SSW 3.6 | it H5 | 5.9 [10.0 | 5.6 | 2.2
20017.2 |14.0 [15.3 |sw 5.2 |wsw 5.0 [S 2.6 |sw 17.0 i LA 3] 0.0 [25.0f5.1] 3.1
21]23.8 |13.4 [17.7 N 1.0 [SE 2.0 |sw 3.6 |W O g e H3 8o 60] 28] 23
22013.8 1 6.9 | 9.0 |\NE 4.1 |NNE 3.0 IN 4.6 |ENE  10.3 |fE [E§] F3loo| 70| 7.4]24
23 9.3 7.3 | 8.2 N 3.1 |\NNE 2.0 |NE 1.5 |ENE 8.2 | 5] FBloo]3o0f|21]s50
24014.7 | 7.6 [10.8 |NNE 3.1 |ESE 4.0 |SE 1.5 |Nw 5.1 | 2 2= FE 2 2 H2 | 4.5 [15.0 | 8.6 | 4.0
25018.3 | 6.9 [12.5 |ENE 1.0 |SE 2.0 s 5.2 |w 2.6 | i) H2 f12.6 [20.0 | 8.8 | 6.0
26]19.7 ] 9.8 [14.3 [E 3.6 [E 3.0 |ESE 4.1 N 3.6 MRt —WENG [tk — g | H3 J10.6 [20.0 | 8.3 ] 6.0
27015.0 110.7 [12.6 |N 3.6 |NNE 1.0 |ESE 2.6 [SSE 10.8 2% B L2 o.0[20.0]61]|50
28]15.0 |11.9 [13.4 |\w 3.6 |N 4.0 IN 4.1 |SE 24.7 | Kt —WpE | KW —WF2 | L2 0.1 | 6.0 | 5.5 | 3.1
29)22.0 |13.2 [17.5 |Ssw 7.2 |sw 9.0 |sw 7.2 |SSW 19.0 |WEH x4 B 2 L1 o6 f15.0] 67|25
30021.0 |10.5 |15.2 |E 2.1 |SE 4.0 |sw 5.2 |SE 5.1 |W5#% e M 1 i H4 J11.2 [20.0 | 8.3 | 5.2
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# R E1Al R ol i E
('C) (m/s) A &I EN S JZ (°C)
= Rl RS 0 9 f 1 2 T 507 T00O0m (06~18h) (18~%06h) | B | B | (km) [ O9WF[ 210F
1]20.6 [11.3 [15.9 |ENE 1.5 |ESE 4.0 |SE 4.1 |SwW 7.2 |Dehs T H4f12.0 [15.0 [10.1 | 4.4
2822.8 |12.7 [17.1 |E 2.1 |E 3.0 S 3.1 [wNw 8.7 | SIS H4f12.6 |20.0 | 6.1 | 3.0
3123.6 [13.6 |18.3 [N 1.0 |ssw 5.0 |sw 7.7 |ssw 5.1 |2 W H4) 7.5 |156.0 | 2.5 | 2.9
4023.9 |16.7 [19.8 |sw 3.1 |SSE 5.0 [S 5.2 |WNW 3.1 | e H4] 6.8 [15.0 | 2.1 [-0.8
5J26.8 |16.6 [20.7 |E 1.5 [E 2.0 |sW 4.6 |ESE 3.6 |WE—mps [WE—REEE  JH5) 9.5)] 6.0 ] 2.9 [-0.5
6]26.4 [18.5 |21.6 |sW 5.7 |SSW 8.0 |SSW 6.7 |sw 12.9 [ f% 0 et dis L 1]J10.9 [20.0 | 2.0 | 3.7
7022.2 [18.1 |19.9 [Ssw 6.7 |Sw 7.0 |sw 7.2 |sw 19.0 |2%Mcl  |2%ksE F1] 0.0 |25.0 | 81| 4.4
8j24.3 [16.5 |19.2 |E 4.6 |ENE 3.0 |sw 5.7 |Nw 7.7 | S I % A H2f11.2 |30.0 | 6.3 | 5.8
9§25.7 |15.4 [19.7 |NE 2.6 |SSE 4.0 S 3.1 |\w 12.9 |2 Wi H3J11.1 [30.0 | 85| 2.4
10021.6 [15.9 |18.4 |N 3.1 |E 2.0 |sw 3.1 |SSE 5.7 |2 = H5) 1.3 125.0 [17.8 | 6.1
11]18.6 [14.6 |16.4 [SE 1.5 N 2.0 |NE 2.1 |SSE 176 (R MR L 3] 0.0 [15.0] 6.2 | 43
12§21.6 |12.6 |16.0 |NE 1.5 |SSW 2.0 IN 2.6 |NNW T.oT |mwsemimns, sxpes |Smemanr, 22 | F 20 4.6 125.0 6.7 6.2
13]21.1 [11.5 |15.9 [NNw 4.6 |SE 3.0 [wsw 3.1 |wNw 8.2 |i%E 1% % H1] 6.8 |40.0 | 9.7 | 8.0
14]18.1 [11.9 |14.6 |N 2.1 |E 4.0 |SE 3.1 N 1.5 |25 B H3J 3.9 [40.0 [10.5 | 7.2
15018.2 [12.8 |14.9 |E 3.1 08 4.0 |E 3.6 N 2.1 |WEte -l hEfe—Wede  [TI30 9.8 [30.0 1 9.7 ) 5.5
16§21.8 [12.6 [17.1 |SE 1.5 [sw 4.0 |sw 6.2 |sw 5.7 |Z=%0E Al H5) 7.9 [25.0 | 8.8 ] 4.1
17026.2 [14.7 |19.8 [N 1.5 |s 3.0 |sw 5.2 |\w 4.6 [N~ B2 H4)12.0 |15.0 | 5.3 | 1.8
18]25.1 [16.5 |20.7 [sw 5.7 |sw 7.0 |Ssw 9.3 |ssw 4.6 | o ng ML [H4)11.7 |30.0 | 4.6 | 3.4
19021.8 [18.1 |19.5 [sw 7.2 |sw 7.0 |sw 6.2 |sw 7.7 |FkE & 2 2 F2] 0.9 (300 |10.3] 4.8
20§21.8 118.2 119.7 |s 5.2 |SSE 3.0 IN 3.6 |sw 15.4 [FERs 22 |~ 2= F200.0120] 43] 25
21029.1 118.9 [22.9 N 3.1 [S 3.0 |Sw 4.1 |NNW 7.7 | i H2f12.6 |15.0 | 5.4 1.4
22]27.6 |19.0 |22.5 [E 3.1 [E 2.0 |SSW 3.1 |NNE 5.1 [ T H5) 8.7 [10.0] 6.1] 2.5
23020.4 |15.1 |17.6 |NE 1.5 |E 3.0 |E 2.1 |Ssw 5.1 |/ 5] F3loo0]| 80| 46]| 6.5
24]22.0 |15.4 |17.7 [N 4.1 IN 4.0 IN 1.5 |SSE 12.9 [fifg—W |tk Mg L2j o0 50]32]47
25026.8 119.0 [22.5 |wsw 6.7 |sw 8.0 |sw 8.2 |wNw 3.6 |HE 2« H 2 W L1 9.8 [15.0] 3.7 | 3.7
26]22.7 113.4 [18.1 |N 3.1 N 6.0 |ENE 3.1[S 7.7 | BB =% L2)24]80]32] 26
27023.2 113.2 [17.4 |S 1.5 |s 3.0 |sw 3.6 |NNW 2.6 |20 g R 2 [ H3) 4280 38] 48
28]22.2 |15.2 [18.3 [NNE 2.6 [E 3.0 |ESE 2.1 |ESE 2.6 |FE#%RF~E [FERIFx 2 3] 8.8 [30.0] 6.8] 6.5
20)17.0 |13.5 |15.8 |NE 1.5 |E 2.0 |NE 1.5 |SSE 4.1 |20 2 i B 2 [ F3] 00300 70]54
30016.3 112.2 [14.3 |\NNE 2.1 INE 2.0 |E 3.6 |ENE 5.1 2 F3)00/[150]59] 5.7
k31 2P B R BN 1 3T7[SE 3078w 467w 1.0 i B H3)9.797[15.0779.°2775.5
H) KR, B - U, KA. BRROWERIE, B RSB 0BT — % 257,
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LR 2 2 4F 6 A

o e Xl H [ %
# L) & [ “ | m =
(C) (m/s) &[] | R E(°C)
plEE B ] £ 00m T 2 T 50 TO0O0nm (18~#o6h) | A | R [ (km) [TO9FF] 21FF
1§22.3 [14.1 [17.3 W 2.1 [E 4.0 |E 4.1 IN 4.1 | I H3f12.4 [20.0 | 7.0 | 3.0
2§23.8 [14.2 |18.4 |E 3.1 |E 3.0 |ESE 3.1 |ENE 3.1 |beng Si H3J13.3 [15.0 | 6.1 | 2.4
3026.1 [15.4 [20.5 [E 2.1 |SSE 3.0 |s 6.2 |NNE 1.5 |Pers SIS H3}12.9 |10.0 | 6.0 | 5.0
4)26.4 [17.2 |21.6 |S 3.11s 5.0 |s 5.2 |Ssw 4.1 |nF i H2J12.7 [20.0 | 9.3 | 5.3
5023.3 |16.7 [19.5 [ENE 1.5 |ENE 2.0 [E 3.6 [SSE 0.5 |=f%0E A H3)] 6.4]80]59] 2.8
6§25.2 [17.3 |20.5 |E 3.1 |ESE 2.0 |SSW 5.2 [WNW 4.1 i i3 e H3J11.5 [15.0 | 8.5 | 4.5
7027.5 [18.4 [22.0 [E 1.5 |SE 3.0 |sw 4.6 |NNE 1.0 |[#E T H3| 6.1 (150 5.2 5.5
8)22.0 [18.6 |20.5 |E 2.6 |E 3.0 [E 2.6 |SE 6.2 |=H R 2 [ L 3] 00200 74]|5.3
9f20.5 [17.0 |18.8 |N 2.1 |NNE 3.0 |ENE 2.1 |ENE 3.6 |Miff~ I 2 2 F3]02]100] 58] 22
10§26.6 [17.4 [21.6 |NNE 2.6 |E 4.0 |E 5.7 INNE 8.7 S H3f12.4 |20.0 | 6.2 | 3.8
11§25.9 [19.0 [21.9 |E 1.5 [s 3.0 [S 4.1 |WNW 3.1 i H4] 49 |15.0 | 8.0 | 6.4
12§29.0 [20.5 [23.8 |ESE 2.6 |sw 4.0 |s 5.2 |sw 3.1 i H5)12.3 [10.0 | 6.3 | 3.4
13§26.0 [20.2 [22.6 |SSW 4.6 |S 5.0 [S 5.7 |Ssw 8.2 = F3]39]2.0]92]|72
14§20.2 [16.5 [17.9 |NNE 2.1 |NNE 3.0 N 4.6 |ESE 7.7 i F3lo0o0]|30]|58]) 04
15§27.5 [17.4 [22.4 |s 1.5 |s 4,0 |sw 5.7 INE 3.6 Rl 2 [ H5) 7.5 [156.0 | 3.7 | 6.5
16§29.4 [21.7 [25.1 |sw 6.2 |SW 5.0 |SSW 5.7 |sw 19.0 |2 B | F o6 2T 1005 04T
17§30.5 [22.0 [25.6 |E 3.6 |ENE 3.0 |sw 4.1 s 4.1 |HEERE 2[R & H2J10.5 [30.0 | 7.7 | 4.9
18]28.9 [20.1 [23.6 |\ 0.5 |s 3.0 |s 2.6 N 0.5 | 2% AN F2]0.4/[100]| 43| 1.4
19§30.0 [20.2 [25.1 [N 1.0 |SSE 3.0 |sw 4.6 |w 12.3 |2 b e | Fz2l 32150 22| 1.6
20027.7 |23.4 |24.9 |sw 4.1 |Wsw 7.0 |sw 8.2 |sw 5.1 |2 2 F2los8 150 3.4/ 3.4
21027.9 |22.3 |24.5 [SSW 4.6 [SSW 6.0 [SW 5.2 |S 4.1 |2 Swmgres | F 2] 4.2 [30.0 | 4.9] 3.3
22029.7 |23.4 [25.3 [wsw 2.6 |SSW 3.0 |s 3.6 |E 8.7 |B%—mE Rk —NNE F2] 32 ]100]| 53] 70
23]25.3 |22.2 |23.5 [SW 5.7 |sw 6.0 [N 2.1 |SSw 8.7 |Mimyx 2 I 2 2 L2yoe6]|40|61]| 1.7
2428.3 |21.4 |23.9 N 3.6 [SE 4.0 |ESE 2.1 |WNw 3.1 | =% BN H3| 6.8 [20.0 | 7.0 ] 1.8
25029.6 120.7 |24.7 N 2.6 |SSE 3.0 [s 5.2 |sw 5.7 |k T H5) 7.2 [15.0 | 6.1 ]| 2.5
26]26.7 |23.6 [24.7 [Wsw 4.1 |sw 6.0 |SW 4.6 |SW 7.7 | o i 2 F2fo00[25.0] 50| 3.4
27]28.0 |23.8 |25.2 [SW 4.6 |sw 5.0 |sw 6.7 |sw 7.7 : 1.0 |20.0 | 47| 1.8
28]31.4 |23.7 |26.8 [N 1.0 |ENE 4.0 |E 3.6 |\ 3.6 58|80 43]5.7
29]27.9 |24.3 |25.8 [S 1.0 |ESE 3.0 [E 3.6 |s 7.2 0.7 25 40| 2.1
30030.3 |22.3 |25.4 N 2.6 N 3.0 |ESE 2.6 |NNE 9.3 3.7 1265.0 | 4.1 ] 2.1
R 2 24E7 A
3 S K H ) u
% L) J& JA “ | m =
(C) (m/s) K [H] B i E (°C)
a5 | k] 75 0 9 IF T 2y 150 T00O0n (18~#06h) | M | ® | (km) [TO9FE[ 21F
1J31.0 [24.2 26.5 |S 1.5 |SSE 3.0 |Wsw 4.1 |SSw 5.7 Th g H3[ 5.6 [10.0 | 43 ] 5.0
2§30.8 [23.0 |25.7 |E 2.1 |SE 4.0 |sw 5.7 |SE 3.1 H5) 4.3 |10.0 | 6.1 | 5.1
3]28.6 [23.7 [25.3 [ssw 2.1 |sw 4.0 |SSW 3.6 |SSW 4.1 F2]0.4]100]6.3] 48
4)31.1 [23.6 |26.6 |N 2.1 |E 2.0 |ESE 2.6 N 5.1 H3| 4.7 |10.0 | 5.2 | 3.1
5029.9 [24.4 [26.2 [E 3.1 [E 2.0 [E 4.1 |SE 5.7 |2 F3l29]40]|6.2] 39
6§30.5 [24.5 [26.8 |S 1.5 |ESE 3.0 [S 5.2 |SSw PR A Y AT Y F3l37]60]|52]| 37
7027.7 [22.3 |24.4 |NE 1.0 |SSE 2.0 |ssw 6.7 |NNW 4.1 | e 2 I 2 2 F3]00[150]20] 3.2
8)29.7 [22.1 |25.5 |sw 2.1 s 4.0 |sw 3.6 |NE 3.6 5 1% H2) 9.7 [15.0 | 6.4 | 4.5
9)26.3 [22.0 |24.3 |s 2.1 |sw 4.0 |SSW 4.1 |SSW 5.1 B4 [ F2)o00[150]82]| 45
10§30.0 [23.3 [26.5 |wWsw 2.1 |s 4.0 |s 5.2 |w 7.2 H2J12.3 [50.0 | 5.1 | 4.3
11§28.5 [24.1 [25.8 |s 0.5 |sw 3.0 |sw 4.6 |S 3.6 Fz2f 1.2 100 6.9 3.9
12§27.9 [25.5 [26.3 |sw 8.2 |sw 7.0 |ssw 6.7 |sw 23.1 F2) 0220/ 49| 45
13]27.5 [20.4 [24.6 |NNE 1.0 |wsw 3.0 |w 4.1 |sw 6.2 Fz2lo1]s8of30]o03
14§29.4 [20.4 [25.7 |sw 8.2 |ssw 8.0 |Ssw 6.7 |sW 19.0 F2) 73250 25| 49
15031.3 [25.1 [27.3 |sw 4.6 |SSW 7.0 |SSW 7.7 |sw 13. 4 F2]86[3.0]69] 36
16]31.4 [25.2 [27.7 |sw 3.6 |SSW 4.0 |sW 5.7 |sw 6. 2 H5[12.9 [30.0 | 7.0 | 5.4
17032.0 [25.2 [27.8 [sw 4.1 |SSW 4.0 |SSW 4.6 |SSW 5.1 H5)11.3 [30.0 | 7.6 | 2.9
18]31.7 [24.3 [27.6 |SSW 5.2 |sw 5.0 |s 5.7 |sw 8.7 H4)12.7 [40.0 | 9.3 | 5.0
19§32.7 [25.1 [28.3 |SSw 4.6 |sw 5.0 |sw 6.2 |w 2.1 H4)12.9 [40.0 | 6.4 | 2.3
20033.6 |25.7 [29.2 N 1.5 |SSE 4.0 |s 4.1 |NNW 1.0 H4010.7 [20.0 | 6.1 | 2.8
21]35.0 |26.1 [29.6 [N 2.1 |SE 3.0 |sw 3.6 |W 1.5 H4f11.4 |20.0 | 6.1 | 4.1
22135.4 |26.0 [29.6 [ESE 2.1 s 3.0 |sw 4.1 |sw 5.1 H4f12.1 [10.0 | 5.8 | 3.8
23134.7 |26.1 [29.3 [ENE 1.0 |SE 4.0 |s 3.6 |ESE 1.0 H4)10.7 | 8.0 | 6.9 | 4.2
24134.2 |26.4 [29.7 [ENE 1.5 |SE 3.0 |s 4.6 |Wsw 0.5 H4f11.5 [10.0 | 7.6 | 6.3
25033.1 |26.1 |28.8 |E 1.5 |SSE 5.0 [S 4.6 |NNW 1.5 H4] 9.8 [10.0 | 7.3 |-1.5
26]32.9 [25.8 |28.5 |ESE 3.1 |SwW 3.0 |SW 5.2 |SW 2.6 |Zuwens, Tareo |2uron, maeks |[H4) 7.7 [15.0 | 6.6 | 1.6
27032.8 |25.7 |28.7 [SW 4.1 |SSW 5.0 |sw 5.7 |NNW 2.1 B 2 R H4)12.7 |15.0 | 3.4 | 3.8
28]32.0 |26.1 |28.5 [sW 4.6 |sw 7.0 |ssw 7.2 |SE 5.7 |mF i H4)13.2 [20.0 | 6.8 | 4.2
29126.9 |23.5 |25.3 [SSW 4.1 |SSW 5.0 |SSW 9.3 [SSW  18.0 |f8—HE P L1] 0.0 [15.0 | 4.6 | 4.7
30030.4 |24.0 |26.5 |[sw 5.7 1S 4.0 |SSE 4.6 |sw 12.3 |2l x (g |20 x e |[F 1] 2.7 [15.0 | 4.9 ] 5.3
38707 256 98T ENE 1.5 7|SSE 3707|SSW 4717|SE A L& FHAL2787"8707176.70773.1
W) RIR, EE - R, KRR, BREOWRIL, SRt REE 0BT — & 2R,
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R 2 24E8 A
S % S K H [ u
# L) & [ “ | m v
(C) (m/s) A K IH] L E(°C)
El R B R 09 T 2y 150 T000m| (06~18h) (18~#o6h) | A | R [ (km) [TO9FF] 21FF
1§33.1 [25.9 [29.0 |S 2.1 |SSE 4.0 |SSE 3.6 |SW 1.5 [0 % e | H4f 8.5 80| 5.3 ] 5.0
2§31.3 [26.8 |28.4 |s 3.6 |sw 5.0 |sw 5.2 [SSW 8.2 |m—memitgny« 0F |2 —WeNE F1] 2.4]10.0] 8.6 | 7.2
3132.6 [26.3 |28.4 | 4.1 |SSE 7.0 S 5.7 [SSW  10.3 [mE—HEE i F1] 87 [25.0] 87| 5.5
4]32.3 |26.3 [28.8 |sw 4.1 |sw 4.0 |sw 6.2 |SSW 8.2 |ig i H5)10.5 [40.0 | 8.1 | 5.3
5033.3 [26.8 |29.3 [ssw 5.2 |ssw 5.0 [Ssw 5.7 |sw 6.2 |Pemg i3 H5013.0 140.0 | 9.3 | 5.0
6]32.0 |26.5 [28.6 [ 3.6 [S 6.0 [SSW 5.2 [SSw 5.1 [ L H5[10.7 [30.0 | 8.2 | 6.2
7032.7 |25.0 |28.3 [sw 3.6 S 5.0 [S 4.6 |sw 5.7 Witk —WpdiE & Wi H5)12.1 [20.0 | 7.2 | 5.2
8)30.5 [24.2 |27.7 |sw 3.6 |sw 3.0 |s 3.1 |ssw 6.2 |BH%MAN |EH%KW F1l o7 [30.0] 9.2 5.3
9]27.8 [23.6 [25.2 |s 2.6 S 3.0 |sw 4.1 |ESE 5.1 |2~/ ERG 2B |F 1] 0.2 [20.0 | 3.6 | 5.4
10030.9 [24.5 |27.1 [s 3.6 |SE 5.0 |sw 3.6 |Ssw 6.7 | 2 ffr R |2 — I F1] 4.4 [30.0] 89| 6.1
11]31.8 [26.0 |27.9 [sw 5.7 [Sw 6.0 [SW 5.7 |Ssw 8.7 1% = H5) 7.0 [30.0 | 7.0 | 5.3
12030.2 [26.1 |27.4 [Ssw 7.7 |Ssw 9.0 [SSW 7.7 |sw 23.1 7 T | 44020067 1.9
13]30.7 [26.4 |27.6 [N 2.6 |E 5.0 |E 4.6 |SE 2.6 H3) 2.8 120.0 | 4.4 4.3
1432.2 [25.9 |28.7 [ssw 4.6 |sw 6.0 |Sw 5.2 |sw 12.3 L1] 2.9 150 | 46| 2.4
15033.7 [27.8 130.0 [wsw 5.7 |sw 6.0 [sw 4.6 |Nw 7.2 H4) 8.8 115.0 | 5.7 | 3.3
16]35.5 [27.3 130.6 [SSW 1.5 [SE 3.0 |SE 2.6 |\W 4.1 H4[11.1]10.0 | 6.7 | 4.2
17]35.4 [27.6 130.9 |E 3.6 |ENE 3.0 |E 5.2 |SSE 6.7 H3j10.1 |10.0 | 6.2 | 3.8
18]34.1 [27.5 |29.8 |E 3.1 |E 5.0 |E 4.1 |NNE 3.1 H3) 7.7 1100 6.2 3.6
19032.2 [26.5 |28.5 |E 4.1 |E 4.0 |E 5.2 |SE 2.1 | 2% H3) 7.2 1100 58] 5.2
20030.6 125.9 [27.4 |\NE 1.5 |E 3.0 |E 3.1 |w 1.5 |Z—Wng H3) 46150 6.9 4.9
21032.5 |25.1 [28.0 [ESE 1.5 |E 2.0 S 4.1 |wNw 3.6 [ H2f11.0 |10.0 | 8.0 ] 4.0
22033.9 |25.9 [28.8 |sw 3.6 S 4.0 |sw 4.6 [wsw 2.1 |i§—Hp2 H2)10.8 |15.0 | 6.9 | 3.7
23034.1 126.0 [29.2 |S 2.1 |SSE 5.0 |sw 4.6 |sw 3.1 | H4)12.0 10,0 | 6.3 | 3.7
24133.0 |26.7 [28.9 |Ssw 3.1 |ssw 5.0 [SSW 5.2 |Ssw 8.7 | 1% — IR H4)11.4 [15.0 | 5.0 | 4.5
25033.2 |26.1 129.0 [S 3.1 |sw 4.0 |s 4.6 |s 2.1 | I £ — m4f10.2 [15.0 | 8.0 | 3.2
26033.3 126.7 [29.1°[S 3.1 [sw 4.0 |SSW 5.2 |E 1.5 |iF I H4f12.0 |20.0 | 5.8 | 3.9
27133.4 |26.3 [28.8 |N 1.5 |SSE 5.0 |wsw 4.6 IN 2.6 |if— e i Hs5)10.2 |15.0 | 6.0 | 4.1
28133.5 |26.3 [29.1 |Ssw 2.1 |sw 5.0 [SSW 4.1 |Ssw 1.5 |i§ i3 H5J11.9 |20.0 | 6.1 | 4.1
20033.7 |25.2 [28.8 [wsw 1.0 |s 3.0 |sw 4.6 |wsw 2.6 WA I H5010.7 |30.0 | 4.8 | 2.2
30034.8 |26.1 [29.3 [ENE 2.1 |E 2.0 |s 3.1 |w 0.5 [ —meng % —meda [H4f10.7 1 8.0 4.1 ] 3.7
R KN PG A I o ESE AN 471718 IOl (i3 i FA 1087165707457 7874
Rk 2 249 A
i3 - o <] B ] & | %
# O B1Al . ol i E
(°C) (m/s) A &I LS JZ (°C)
= B RS 0 9f 1 2 T 50F T00O0m (06~18h) (18~%06h) | B | B | (m) [ O9WF[ 210F
1]34.3 126.0 [29.4 |ESE 2.1 |ESE 2.0 |S 3.6 |S 1.5 |fm [ H5[10.7 [20.0 | 8.4 | 5.9
2033.6 |26.2 [29.1 |SSE 3.1 |SSE 4.0 S 5.2 |SSE 1.0 |WEt% —meiis | H5)12.0 |25.0 | 9.9 | 5.2
3133.8 [25.5 |29.0 [wsw 3.1 |ssw 3.0 |sw 4.6 |W 3.6 | 5 — 2 H4]11.7 |25.0 | 5.4 | 3.5
4]35.6 |27.4 [30.5 |NNE 2.1 |E 3.0 |ESE 2.6 |NNE 1.5 | 5 #4 f  e H3J11.4 |20.0 | 7.7 | 5.4
5034.3 [27.0 [29.5 |s 1.0 |SSE 6.0 |sw 4.1 |ssw 4.6 |WE1% IRl IR~ & H5) 7.5 120.0 | 8.4 ] 5.1
6033.5 |26.8 [29.0 |sw 3.1 [sw 5.0 [SSW 5.2 |wsw 4.6 |mise—min e H5[ 9.6 [30.0 | 85 | 5.3
7134.4 [26.9 |29.5 [sw 5.2 |sw 7.0 |sw 8.2 |w 3.6 |#HE R 2 g H4] 7.7 |50.0 | 8.1 | 5.8
8]28.6 |22.5 [25.5 |E 1.5 |SSE 5.0 |W 4.6 |S 6.2 | XM BB Tloo]|so| 32|18
9)28.7 |22.1 |24.5 |N 4.1 |NNE 2.0 |E 5.2 INE 10.3 214K B H3) 3.6 (20.0|51] 38
10029.2 [22.5 |25.2 [SE 2.1 s 3.0 |wsw 4.1 IN 0.5 |2 2= DN H4l 7.1 120.0 | 6.6 | 1.5
11)31.7 [23.2 [27.1 |sSW 2.1 [SW 4.0 [SW 4.6 [SW 6.2 i 14 v oS H4)11.0 [15.0 | 4.4 | 2.7
12031.7 [24.9 |27.6 |E 2.1 |E 4.0 |E 4.1 |w 3.6 |ME—mrg |2 H4l 8180 22] 20
13]33.4 [25.3 |28.6 |N 1.5 |sw 2.0 [s 2.1 |wNw 9.8 =% = F2) 72|80 13]3.7
14]30.4 [22.2 125.8 |E 3.6 |E 3.0 |SSE 3.1 |Nw 5.1 | x 2B |FERE 4 2 H3| 7.3 [15.0 | 7.6 | 4.5
15025.8 [20.5 |22.9 |N 4.6 |NE 2.0 |ENE 3.1 |E 5.1 |&—n Mifex®  [F3] 201200 57] 61
16]21.8 [19.2 120.2 [NNW 5.2 N 5.0 |N 3.1 |E 15. 4 |FRRs~ 2 iR (L 2] 0.0 |15.0 | 3.4 | 2.9
17028.1 [19.2 |23.6 [NE 1.5 |NNE 1.0 |E 1.5 |w 3.1 |2 i3 H3J 9.0 |10.0 | 3.8 | 3.1
18]29.2 [22.9 |25.4 [NE 1.5 |E 5.0 |E 4.6 |NE 6.7 |WEtE—WiiE AN H3J10.8 [30.0 | 7.5 | 3.4
19029.5 [22.4 |25.5 |E 2.1 |SE 3.0 |sw 3.6 |sw 5.7 |~ 2 B 2 i H4) 7.5 80| 5.1 | 4.7
20028.7 123.5 [25.7 |NNE 1.5 |ESE 2.0 S 2.6 |ssw 3.1 |2 i H3) 2.2 1100 6.4] 3.8
21]31.5 |23.2 [26.7 |E 1.5 |ESE 3.0 [S 2.1 |w 5.1 |iF B H AT 90602038
22033.4 |24.2 [28.3 |s 1.0 |ssw 4.0 s 4.6 [WNW 7.7 |W§ g% H4f11.1 | 8.0 2.0 | 3.1
23025.2 |16.7 [20.5 |\NNE 2.1 |\NNE 4.0 |NNE 4.6 S 9.3 |Mikix 2 s — e F2lo0o0]90]| 1.7] 48
24]19.9 |15.7 [18.0 |NNE 4.6 |NNE 3.0 |NNE 4.6 |NE 13. 4 |ZEM5 2/l M — F3] 0.0 [40.0 | 6.1 6.3
25)23.2 113.7 [17.8 [N 9.3 N 6.0 INNE 3.1 INNE 226 |\FWG~ Bl |Wife—Widx  [TI10 3.9 (25.0 ) 7.2 1-0.3
26)24.7 |16.2 [19.5 |N 2.6 [ESE 3.0 |E 3.6 |ESE 8.2 |#%a PG| H3[| 59 (30.0]6.1] 5.9
27)18.2 |15.5 [16.2 |N 3.6 [N 5.0 [N 4.6 |E 13.9 |’ PNGH F3)00[150] 53] 03
28]21.2 |15.8 [18.5 |NNE 1.5 |wNw 4.0 IN 3.1 |sw 13.9 |2 B 2 [ L2jo1]80f|42] 109
29]25.0 |19.4 |21.8 [N 8.8 |E 4.0 |ESE 2.1 s 3.1 [E%E Eeth—IERN H3] 6.7 [30.0 | 5.0 | 5.2
30§21.2 |17.8 [19.0 |N 3.6 |N 3.0 IN 3.1 |ssw 1.0 |F—KZ R IR 4 2 F3) 00 ]100]32] 3.5
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PRk 2 2481 0

= ‘ . * = N
F# B i &1 JEIRC B S i
(C) (m/s) A K IH] | R E(°C)
nlEe [ RBE] 75| 09% T 2 T 50 TOOOm| (06~18h) | (18~2o6h) | ® | B | (km) [ O9FF] 21F
1§23.4 [17.8 [20.2 N 3.1 |NNE 3.0 [E 3.6 |NNE A A H3[ 1.6 [10.0 | 6.7 | 4.6
2f24.6 [18.9 |21.2 |E 5.2 |ENE 4.0 |E 5.7 |ENE 5.7 |mF i H3| 9.5 20,0 | 7.6 | 5.1
3024.5 [16.9 [20.6 [N 3.1 N 2.0 [E 3.1 |SE 1.5 |25 IR 2 H3| 6.4 (250 82| 3.1
4f24.5 [18.1 |20.6 |\ 1.5 |ENE 1.0 |ENE 1.5 |s 13.9 |Z&—m 2% &N |F2 o680 1.4 29
5025.9 [19.8 [22.2 [E 3.1 |ESE 3.0 |Ssw 3.6 |E 6.7 |~ 2 I 2 H1f 6.7 [10.0 | 6.2 | 4.4
6§25.9 [19.3 [21.7 N 3.6 |NNE 3.0 [E 5.2 INE 8.2 | L H3f 7.9 |20.0 | 6.0 | 3.9
7025.3 [18.0 [21.0 [N 4.1 |NNE 3.0 |ENE 3.6 |ENE  10.3 [WEfeHE~ 2 [Z—BEHE H3| 3.7 (2.0 71/ 3.8
8]25.0 [19.2 [21.1 |NNE 2.6 [NE 3.0 |ENE 4.1 |E 6.2 |f§—KFE etk —WE H3| 8.7 (250 7.4 ] 3.9
9f19.3 [16.5 |17.3 |N 4.6 IN 5.0 [N 5.2 |SE 10.3 |FH Kl F3] 00100 43| 0.3
10123.0 [16.8 |19.4 |NW 1o [E 1.0 [SE Lo fwNw 5.1 |E-RERIEAE A& g [F2) 1.8 (10,0 |-1.6 ) 0.2
11§28.5 [18.6 [22.9 |NE 1.0 |ESE 2.0 [E 3.1 |ENE 3.6 [ Wit —WFNy | H 2010.7 [40.0 | 5.0 | 1.2
12§24.5 [20.1 [21.9 |NNE 1.0 |NE 1.0 |ESE 2.6 |SE 5.7 |B%—WE | BN F3] 23 [300]51] 4.2
13]25.5 [20.5 [22.5 [N 3.1 [E 3.0 |ESE 1.5 |ENE 0.5 2% H3| 43|60 56| 4.5
14§23.9 [19.8 [21.4 |NE 2.1 |ENE 2.0 |E 4.6 |ENE 6.7 %A F3l1.7]90]|63]| 46
15023.3 [18.9 [20.7 |E 1.5 |ESE 2.0 |ESE 2.1 |nw 2.1 2R F3)26]100]6.2]6.1
16§24.4 [18.6 [21.1 N 1.5 [E 3.0 |SE 2.6 |\W 1.0 2 — R H3[| 49150 6.1 ] 2.4
17]23.4 [18.5 [20.6 [N 3.6 [N 2.0 |ESE 2.1 |ENE 1.5 |2 B1%— I F3] 0.6 100 47| 27
18§22.8 [17.0 |19.3 N 3.1 |E 4.0 |ENE 3.6 |WNW 1.0 W5 & 2 i 4 I 2 H3| 4.4 |15.0 | 6.6 | 3.8
19§20.0 [16.4 [18.5 [N 4.6 |NNE 3.0 |NNE 2.1 |ENE 3.1 |2%—HW |2 F3]03][2.0]|57]| 49
20018.9 |17.0 |18.2 N 3.6 |NNW 3.0 N 3.1 |SE 5.7 |Mi~ 2 m—ﬁ% F3] 00 [100]35] 20
21]18.1 |16.6 [17.5 |NNE 2.1 N 5.0 IN 3.1 |NE 9.3 |/l HEU F3foo]e60]| 35|37
22018.9 |16.0 [17.5 |NNE 3.1 |NNE 2.0 |NNE 2.6 |NE 12.3 |2 2 F3]0.3]20]|78]|6.2
23]21.0 |13.3 |16.7 [N 3.1 |NNE 2.0 |ENE 3.1 |NE 6.7 W T B H3| 7.0 [30.0 | 86| 2.2
24]17.9 |13.5 |15.1 N 2.6 |NNE 2.0 N 2.6 |SSW  10.8 |2% B | F3) 00150 21|17
25020.7 113.9 |17.1 [N 2.1 IN 2.0 |SE 2.1 |sw 13.4 |2 R % [ F2) 04150 [-20] 20
26]20.6 |12.5 [16.7 |E 4.6 |NE 2.0 |ENE 3.1 |Ssw 4.1 | =W 2 /Y L F3lo1]90]50]|6.5
27016.0 |10.7 [12.8 |NNE 4.6 |NNE 4.0 |ENE 3.6 |Nw 1.5 |2k s enn—mmE|(H 1] 5.3 |40.0 | 8.3 | 5.1
28]12.3 |1 8.9 1 9.9 |N 4.1 N 7.0 [N 6.2 |E 8.7 |F—MEE %2 F3jo.o0[15.0]33] 3.5
29]16.5 |10.5 |13.9 |NE 3.1 INE 4.0 |ENE 3.6 N 11.8 |= EHW F3]o01][350]59]|5.7
30014.8 |10.8 [12.1 [N 7.7 N 9.0 IN 7.7 |ENE  15.9 |k 2R Tloo]|30] 46| 4.1
ST 797 14761608 IN 5.7 N 4707IN D6 ENETTTYTY A e g, mapes | 1o 0C0T 15007 4R AT
— PRk 2 241 1 A
ES % - ESl B 5 3
ES £ b B R EOl E
(‘C) (m/s) A &I EN S £ (C)
=0 EETE EE 0N B 0 9IF T 21F T 50F T000m (06~18h) (18~%06h) | B | [ | (km) | O9FF[ 21
1§20.8 [14.0 [16.9 |NNW 3.1 |ENE 1.0 |ESE 2.1 |ENE 7.7 | =% 3 L1f 3.3]20.0] 0.6 [-0.6
2§20.9 [11.9 |16.5 |NW 1.5 |ESE 3.0 |Wsw 3.6 [WNW 190 [HEEiamf [ 2 i H1| 8.5 [40.0 | 7.0 [-0.6
3f18.2 [11.3 [14.3 [N 4.6 |E 3.0 |ESE 2.6 [WwNw 12,3 | B IRE % 5 H1J 9.3 [40.0 | 4.3 | 0.3
4)15.7 [10.6 |12.1 |N 2.6 |ENE 2.0 [E 2.6 |SSW 1.0 | & —WFREEE | H2| 3.4 [40.0 | 2.6 |-1.4
5018.5 | 8.7 |13.8 [ENE 1.0 |E 2.0 |ESE 2.1 s 1.5 |m§ L H2010.0 [30.0 | 2.9 | 0.6
6)18.8 [10.2 |14.8 |N 2.6 |ESE 2.0 |ESE 2.1 |Wsw 3.6 [ e T H2f 83 [30.0 [ 27| 1.7
7018.7 [11.9 |14.8 [N 1.5 |N 1.0 |ESE 1.5 |sw 1.5 |24 i H3| 2.9 [156.0 | 1.2 0.2
8§20.3 [12.0 |15.7 |N 2.1 s 2.0 |sw 3.1 s 6.2 | B 2 B H4) 7.2 [10.0 | 2.2 | 1.8
9§20.9 [11.8 |16.8 |sW 6.7 |WSW  13.0 |wsw 7.7 |sw 17.5 [HenE Si L1} 9.8 150 |-1.8 | 5.0
10019.1 [ 9.9 [14.1 [N 1.5 |sw 4.0 |wsw 4.1 |wNw 10,3 | I H1f10.1 [35.0 | 7.2 | 2.3
11§18.3 | 8.8 [13.6 |N 1.5 [E 3.0 [E 2.6 |NNW 3.6 |iF fiF H2] 8.8 (350 58] 3.0
12§20.3 | 9.6 |15.0 |SSE 2.1 |sw 6.0 |sw 4.6 |SSW 7.7 7.2 |10.0 | 1.5 [-2.3
13§19.1 [12.6 |15.9 |N 2.1 N 2.0 |E 3.1 |SSE 3.6 1.7 70| 24| 3.2
14§17.8 [12.9 [15.4 [E 1.5 |SSE 1.0 |SSE 1.5 |sw 8.2 0.0]9.0]07]39
15015.9 | 7.7 [12.1 N 5.7 INE 2.0 |ENE 4.6 |E 3.6 1.8 |15.0 | 4.8 | 4.1
16§12.8 | 7.8 |10.4 |NNE 2.6 [E 4.0 |E 2.6 |SE 2.6 [WEeE— Wz 7.9 130.0 ] 6.1 ] 3.4
17110 | 7.6 | 8.7 N 4.6 |NNW 5.0 N 5.7 |ESE 7.7 |2 F3] 00100 3.3]| 4.4
18§14.8 | 8.4 [10.7 |N 4.1 |NNE 4.0 IN 6.2 |NNE 8.7 | 2 2= SIS F2) 411220 42| 20
19§15.1 | 6.4 |11.6 |N 4.1 |NNE 2.0 |E 2.6 |NE 4.1 |W§H~ 2 1% H3| 51 (350 35| 1.7
20017.3 1 9.3 |13.0 N 4.6 IN 3.0 [E 3.1 |ESE 4.1 |G % 2 i 2 H3J 3.2 (300 37| 0.7
21]16.5 |10.1 [13.8 |N 4.1 N 4.0 |NNE 1.5 |NE 1.5 |2 i U H3| .o 250 | 2.1 | 4.5
22]15.1 |12.5 [13.5 [N 2.6 N 3.0 [N 3.6 |s 9.3 |ZEMi~ i/l 5] F3lo1]90]| 44| 1.7
23]17.7 |11.5 |14.1 [N 8.2 IN 6.0 N 5.2 IN 13.9 | it —iRg |2 20— | F 3 1.5 [20.0 | 5.2 | 4.6
24]13.7 | 9.6 |11.4 [N 2.6 |ENE 3.0 [E 3.6 |NNE 1O |WE—Wpiise |0 —REa H3) 7.8 [30.0] 7.6 | 1.7
25014.6 | 7.5 [10.7 N 2.1 N 2.0 INE 1.0 |sw 8.7 | & e H5) 4.8 [15.0 | 1.0 | 1.8
26]15.6 | 8.9 [12.6 |N 0.5 [N 2.0 |ESE 1.5 |SE 1.5 |& 5 AT H3f 22 80| 1.7 5.2
27014.9 | 9.9 |12.2 N 3.1 [NE 2.0 |E 3.6 [NE 4.6 [ME% s i — 2 H2| 7.8 [20.0 | 6.3 ] 3.8
28]20.1 | 8.4 |13.6 [ 1.5 |w 2.0 |sw 4.6 |WSW 6.7 |Wffgn . s [ H1| 7.7 [20.0 |-0.7 | 4.7
29]16.1 | 8.2 |12.0 N 1.5 |s 3.0 |sw 5.7 |wsw 7.2 |W§ SIS H4] 8.4 |35.0 | 2.6 | 3.0
30014.8 | 8.3 |11.7 |NNE 3.1 |E 3.0 |s 3.1 |w 9.8 |2 |2 H2| 7.2 |35.0 | 4.0 |[-0.1
) KR, B - U, KRR, BRROWRIE, SR RSB 0BT — % 2757,
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Ed % S X1 B [ %
# ) [ I W “ | m v
(C) (m/s) A K IH] | R E (C)
nlEe [ BR] 75| 09 T 2 T 50 TOOOm| (06~18h) | (18~2o6h) | ® | B | (km) [ O9FF] 21
1§17.8 [10.0 [13.4 N 2.1 N 2.0 [E 2.6 |WNW 7.7 | R | P H2[ 5.8 [30.0 [-1.6 [-0.1
2§17.0 | 9.1 |13.4 N 3.1 N 3.0 N 1.5 |SE 6.7 |FE%E Kl % & H5] 4.9 [10.0 | 0.5 | 5.3
3023.0 [11.4 [17.1 [sw 11.3 [sw 10.0 [sw 11.8 [sw 22. 1 |m—wexm. maps [P F2] 68100 30| 5.7
4f16.6 | 8.5 |12.0 |sw 2.1 |NNE 2.0 |ESE 2.6 [WNW  19.5 [peiE DN H1| 9.5 [40.0 | 6.8 [-1.0
5015.1 | 7.3 |11.5 [N 2.1 |E 2.0 |ESE 1.5 |wsw 3.6 | . B H4] 8.9 [40.0 | 0.7 | 0.6
616.9 | 9.7 [12.6 N 1.5 |ESE 2.0 |SSW 2.1 |Ssw 6.7 Wiz G & ey |H4] 6.0 [25.0 [-0.8 |-1.0
7016.5 | 8.5 [12.3 [N 3.1 N 3.0 |NNE 4.6 |WSW 5.1 |2 W BN H3| 20| 6.0[-09]| 7.0
8j13.8 [ 6.1 ] 9.3 N 4.6 N 4.0 |ESE 1.0 |NNW 8.2 |W§—Miy Wi 2 i |H 1] 6.4 |50.0 | 6.5 | 4.3
of14.7 | 4.9 ] 9.0 N 2.6 |ESE 3.0 [N 2.1 |sw 7.7 |W§ N L1] 85 (300 40| 4.4
10§12.5 | 7.0 [10.1 N 2.6 |E 4.0 |ESE 1.5 |wNw 2.6 |iF i — R H2 9.1 (50.0 | 7.1 2.1
11§18.3 | 5.7 |13.6 |SSW 6.2 [S 6.0 |S 4.1 |sw 22.6 i E L1} 80 [30.0] 1.3] 0.6
12f15.2 | 9.5 |12.2 |N 4.1 |NNE 3.0 |E 2.6 [NW 6.7 |EHE & H3| 7.0 [40.0 | 2.9 | 5.0
13110 [ 6.9 | 8.1 |N 5.7 IN 6.0 [N 5.2 |ESE  10.3 |fKfx & 5] F3] 0.0 [10.0| 5220
14§14.6 | 7.5 [10.8 |W 1.0 |NE 3.0 |ENE 2.6 N 6.2 |Z—HE 5 — I F3o03]80[=23]|23
15013.9 | 7.0 |10.8 |NNE 2.6 |E 4.0 [E 2.1 |nw 12.9 |IEf42 R % [ H1| 7.8 [40.0 | 3.9 | 5.8
6] 8.1 | 4.4 | 6.6 INE 1.0 [NE 2.0 |NE 2.11s 2.6 |%= I — P2 L1foo|25.0]6.3] 20
17§10.5 | 3.5 | 7.1 |N 4.1 IN 4.0 [E 2.6 [N 4.6 | i — L1} 7.1 (300 3.6 4.0
18§12.9 | 3.2 | 7.8 |w 1.5 N 2.0 |E 2.1 |w 13,4 |Pei i 4 I 2 % H1f| 9.3 (200 | 1.2 | 1.7
19§10.2 | 5.3 | 7.6 [N 3.6 |NNE 2.0 |ENE 1.5 |s 4.1 | 2R 2 I % H3) 2.0 [20.0 | 2.9 | 3.7
20018.0 | 5.6 |11.0 [N 2.1 |sw 6.0 |NNE 1.5 |wsw 9.8 |WE ks i ) H4] 6.6 [10.0 |-1.7 [-2.8
21f12.0 1 7.1 | 9.6 |N 3.6 [NNW 3.0 IN 4.6 |ESE 2.6 |=—W§i KRR F3] 1.8 |10.0 [ 0.2 | 4.6
22017.9 | 8.3 |13.1 |s 1.0 [sw 5.0 [sW 2.6 [SSW  16.5 |WE—RE: S H1| 7.4 [40.0 | 2.3 | 5.2
23]16.1 | 8.5 |12.4 [N 4.6 IN 5.0 [N 4.1 |WNW 15,9 |PemE SIS H1| 9.5 |50.0 | 6.5 | 2.9
24113.4 | 3.8 | 8.9 | 5.7 |wsw 7.0 |wsw 5.2 |w 8.7 |mF i H1f 9.2 |20.0 | 2.2 | 3.1
2501 8.9 1 2.5 5.0 |w 6.7 |Wsw 7.0 |WSw 7.7 |sw 11.3 |Hems e H1f 9.2 150.0 | 4.5 | 1.1
26] 9.8 1 2.4 6.1 |W 4.1 |WSw 8.0 |Wsw 8.8 |swW 3.1 | —REE [ —rE H1] 8.1 [40.0 | 2.0 | 2.3
27]11.2 | 4.0 | 7.4 |W 5.2 |sw 4.0 |wsw 4.1 W 12.9 |k SIS H1| 9.5 [40.0 | 4.7 [-0.5
28j12.7 | 2.6 | 7.7 N 2.1 |sw 5.0 |sw 5.2 |Ssw 4.1 |nF i — P 2 L1] 89 [30.0]05]| 1.8
29]14.0 | 4.7 | 8.3 N 1.5 |WNw 5.0 [N 4.1 |WNW 20.6 |6 N H1| 8.2 [30.0 | 6.2 | 2.7
300 9.4 | 3.4 5.4 |ENE 2.6 |SW 3.0 IN 4.1 [ssw 6.7 |- |E L3 L4]25.0] 28] 10
R0 RO A B I 16w 3707|SSW 40N 7T k] H 8775070737075
Rk 2 341 A
Ed % S X1 B ) %
% L) J& [ “ | m v
(C) (m/s) A K IH] | R E (C)

nl B[R] 75| 09 T 2 T 50 TOOOm| (06~18h) | (18~2o6h) | # | B | (km) [ O9FF] 21
1fi0.2 | 2.6 | 6.8 |\ 0.5 |E 3.0 |ESE 2.6 |E L0 [ Te | W H1| 8.4 [40.0 | 6.4 | 4.4
2110 | 40| 7.0 N 2.1 N 3.0 [E 3.6 |NNW 4.1 |FE—mpE |2 H1| 8.8 |50.0 | 6.7 | 1.0
31 9.7 2.8 | 6.1 [N 3.6 [N 2.0 [E 3.1 |SE 4.6 |2 Btk —IFHG H3| 29 (350 3.0 1.9
410.1 | 3.6 | 6.4 N 5.2 IN 4.0 IN 3.6 N 3.1 |nF i H1| 7.9 [40.0 | 2.5 | 2.2
5011.5 | 3.0 | 7.1 N 1.5 |SE 4,0 |Wsw 5.2 |WNW 8.7 WG4y & i |[ 14 IR & H1J 7.3 140.0 | 1.7 [-0.1
6] 9.9 | 3.3 ] 6.6 N 3.1 |NE 2.0 |ESE 2.6 |\W 15.9 i H1| 4.8 [40.0 | 5.3 | 6.9
71 8.5 | 2.1 | 4.4 [N\w 6.7 IN 8.0 [N 6.2 |WNW  13.4 i H1f 9.0 [50.0 | 8.1 | 6.7
810.4 | 1.7 | 5.8 N 1.5 |E 3.0 |ssw 3.1 |WNW 144 DN H1| 9.5 [40.0 | 5.0 | 0.4
of13.7 | 2.1 | 7.4 |w 4.1 |Wsw 2.0 |ENE 2.1 |[WNW 14.4 B 4 I H1f 9.1 [35.0[-0.3 | 5.1
100 7.0 | 1.7 ] 3.9 |N 6.2 N 7.0 IN 5.2 |\ 118 e Ml [H1) 8.4 1400 [ 9.0 4.6
1y 7.2 1 0.5 | 4.0 |NNE 3.6 |NNE 2.0 [E 2.6 |NW 9.3 = H1f 6.1 [30.0] 6.1 2.7
120 9.1 1.8 | 5.4 N 2.6 |E 3.0 [E 2.1 |sw 7.2 i F2] 90250 38| 3.4
13 8.5 2.5 | 4.6 [N 5.7 IN 5.0 [N 3.1 |wNW o 14.9 I — H1| 5.4 350 82| 1.8
14 8.1 0.7 | 4.2 NE 1.5 |E 3.0 [SE 2.6 |W 4.6 i 1 e 2 A2 H1J 9.6 30.0 | 3.2 | 3.2
15 9.1 1 0.4 | 4.4 |N 3.1 |ENE 2.0 |ENE 2.1 |w 5.1 i — F2) 34100 |-1.6] 4.9
6] 7.2 [-0.5 | 2.8 N 6.7 |\W 7.0 [N 5.2 IN 15. 4 I H1| 8.8 [40.0 | 6.1 | 6.8
17§11.9 [-0.1 | 5.6 |W 2.1 |Wsw 3.0 |ENE 2.6 |Nw 20. 1 TSI H1| 9.7 |50.0 | 7.0 | 5.0
18§10.7 | 1.9 | 6.1 N 2.6 |ENE 2.0 |SSE 3.1 |wNw 15.4 i3 H1f 9.6 |35.0 | 3.1 0.6
19§10.6 | 1.7 | 6.3 [N 1.5 |E 2.0 [E 2.1 |w 9.3 B I H1f 9.2 |25.0 | 0.7 | 5.0
200 9.5 | 3.1 | 5.6 [N 3.6 |SE 3.0 |ESE 1.5 |wNw 8.7 I 2 2 H1| 8.5 [40.0 | 2.5 | 4.8
211 8.9 2.2 152 |N 4.6 IN 4.0 |ESE 3.1 |Nw 15.9 = H1f 5.2 [40.0 | 6.9 | 1.0
22010.7 | 2.4 | 6.2 [N 1.0 |ESE 2.0 |SE 3.1 |wNw 8.2 i H1f 9.5 [30.0 | 3.0 | 5.0
23] 9.6 | 2.4 | 5.6 [N 2.1 N 2.0 [E 3.6 |wNW  11.8 B [ H1| 5.8 [30.0 | 2.6 | 8.0
24] 8.2 | 3.4 | 5.4 N 2.6 |ENE 2.0 |E 2.6 |Wsw 1.0 %NS F2l 47]90]|59]| 6.6
25010.2 | 2.8 | 6.0 [N 5.7 |NNW 2.0 |ESE 3.6 |Nw 9.3 i 2 2 H1j 9.1 /30.0 | 5.5 2.3
26]10.9 | 2.9 | 5.8 |N 2.1 |ESE 3.0 |Ssw 2.6 |WNW 6.2 G—iemzin [H1[ 9.3 [20.0 ] 2.2 | 6.0
27010.1 | 1.3 | 5.3 |N 2.6 |Nw 1.0 |SSE 3.6 |w 3.6 S |7 H1f 9.3 [30.0 | 5.1 7.5
28] 8.6 | 0.5 | 3.7 N 4.1 N 3.0 |SE 3.6 |\ 11.8 B — H1f 9.1 30.0 | 84 | 3.1
29] 8.1 2.0 42 |N 3.1 INE 2.0 |ESE 2.6 |sw 3.6 |F5H~ 2 i F2) 7.3 [40.0 | 5.4 | 2.4
300 6.6 105129 ]|N  52[ESE 2.0 |SK 3.6 [NNw 113 |WERR T N6 H1] 7.4 140.0 | 8.8 | 4.5
R0 O R RO N o1 TNNW 3707|SSE R LA e (7SI S HL 97 365707557795
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R 2 34E2 A
Ed % S X1 B [ u
# L) J& [ “ | m v
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nlEe [ RBR] 75| 09 T 2 T 50 TOOOm| (06~18h) | (18~2o6h) | ® | B | (km) [ O9FF] 21
fir.s oo 581w 1.5 |SE 2.0 |WSw 3.1 |WNW 12,9 [P i H1f10.0 [99.0 | 4.2 | 2.8
20 9.2 3.1 ] 5.8 N 3.6 |E 3.0 [E 2.1 |w 5.7 | &g i — B2 H3| 1.9 |35.0| 1.5 | 6.0
1.8 | 2.2 | 7.1 N 3.1 [E 3.0 |SE 2.1 |ENE 2.1 | i — H2) 9.8 [156.0 | 1.5 | 1.2
4)13.3 | 3.6 | 8.4 N 1.5 |E 2.0 |E 2.6 |WNW 4.6 |PerE i H4] 9.6 [15.0 | 1.0 | 0.9
s5P11.4 | 3.5 | 7.9 [N 3.6 |NNE 1.0 |ESE 2.6 |Ssw 4.1 |22 B I 2 H3] 6.0 [10.0 | 1.3 | 4.3
612.2 | 4.9 | 8.4 |NN\E 2.1 [E 2.0 |NNE 1.0 |SSE 376 [ Wiy e |[H 3 3.7 | 5.0 | 4.9 | 3.4
7014.9 | 4.6 | 8.5 [N 4.1 |NNE 2.0 [N 2.6 |WNW 144 |W = H1| 7.4 |[156.0 | 2.8 | 2.5
8] 8.9 43| 62N 3.6 |E 2.0 |ENE 3.1 |SSE 5.1 |2 s, menes | F 3] 0.9 120.0 | 5.3 | 4.8
of 9.0 | 1.4 | 4.9 |NNw 4.1 IN 4.0 |ESE 2.6 [E 9.3 |di—memzi s | ERF & I L2y 47| 70| 20|23
10 9.9 | 40| 6.6 N 3.1 INE 2.0 |E 3.1 |\w 14.9 [SRE % i g —wrmen |[H1| 7.1 [35.0 | 6.7 ] 6.4
1y 55108| 20N 5.2 IN 7.0 N 5.2 |E 8.7 |= s nzng—ne L 3] 0.0 ] 220 | 48] 5.6
12 3.8 0.8 2.1 |N 4.1 N 4.0 N 3.6 |NE 11.8 |Miki~x 2 i — R L2 1.1 ]25.0| 58| 4.3
131 9.8 |-0.2 | 4.7 N 2.6 IN 4.0 |E 3.1 |\w 8.7 |Pui s —mazn|H1010.4 150.0 | 3.7 | 3.0
14 7.5 [ 0.3 | 3.5 N 3.1 INE 2.0 |NNE 2.6 |SE 2.1 |B#%M AW |mwesnen mmE| L 3] 0.8 [30.0 ] 5.9 ] 2.8
15011.1 | 0.7 | 5.6 |ENE 2.6 IN 4.0 IN 4.1 IN 7.2 | SIE H1f 8.0 [30.0 | 40| 2.9
16§12.5 | 1.0 | 6.8 N 2.6 |E 2.0 |SE 1.5 |wsw 7.2 |WE i H2f10.2 |25.0 | 0.6 | 1.9
17§14.6 | 5.8 | 9.9 N 2.1 |SSE 2.0 |sw 4.6 |SSW  14.4 |2 EiX PN F3] 1.2 [10.0 [-1.5 | 4.4
18§16.2 | 5.5 |11.4 |N 5.2 N 8.0 IN 6.2 |WNW  13.9 |2 f—Weg (IR~ 2 L2]20][25.0] 06| 6.8
19 9.0 [ 3.7 | 6.3 |N 5.2 |ENE 2.0 [E 2.1 |Wsw 2.6 | %= 2 H3| 1.9 [30.0 | 7.4 | 5.5
200 9.2 | 5.4 | 7.2 IN 5.2 IN 4.0 |NNE 2.6 |s 3.6 & {2 2 F3] 00 [100] 3.0] 5.4
211 9.4 ] 47 6.9 |NNE 5.2 |NNE 4.0 |ENE 5.7 INE 11.8 |22t —H5mg | H3| 1.3 |10.0 | 7.0 | 4.1
22011.2 | 2.7 | 6.6 |NNE 2.6 |NNE 2.0 |ENE 4.1 INE 9.3 |mF I — P2 H3} 9.7 |20.0] 6.3 3.1
23]12.6 | 3.8 | 8.3 N 4.6 |E 4.0 |E 1.5 |ssw 5.7 | b N | H3) 9.5 [10.0 | 5.4 ] 3.3
24]13.4 | 8.0 |10.8 [E 1.5 |s 1.0 |sw 2.6 |SSW  11.8 |k~ & i H5) 0.0 [10.0 | 2.1 | 3.5
25020.8 | 6.7 |15.2 [sw 4.6 |sw 9.0 |sw 6.2 |sw 11.8 | & H4] 9.6 [30.0 |-1.7 | 5.7
26§10.9 | 3.6 | 7.1 N 5.7 |E 4.0 |E 1.5 [SSW 6.2 [Pmg B 14 H3J10.6 [40.0 [ 9.0 | 2.6
27018.1 | 4.1 |11.4 [N 2.1 |Wsw 9.0 |WsWw 8.2 |sw 19.0 |WfE—mis: |BHBW H4] 8.6 [10.0 | 2.2 | 2.4
28]10.6 | 2.0 | 5.0 |N 5.2 [N 8.0 N 7.7 |ESE 6.7 [ KA ZEN AT [L2) 0.0 5.0 1.0 | 5.7
Rk 2 343 A
i3 - o <] B ] & | %
ES £ iR B R EOl E
(‘C) (m/s) A R[#] By o R £ (C)
=1 EEEE BRGNS 0 9y 1 20y 15 iy T00O0m (06~18h) (18~%06h) | B | [ | (km) | O9WF[ 21
if70[43]53]N 4.1 |ENE 2.0 |ENE 1.5 |\ 2.1 |EhG 2 T % L3foo|50]51] 1.6
2§8.0] [2.6] | 5. 71|NE 1.0 | R NE 1.0 |WtaIF~ & & H3) o0.0l[25.0 | 7.2 | 5.5
3] 8.6 | 1.8 ] 4.6 |N 6.7 N 5.0 [N 3.6 [WNW  17.0 |4 TS LN H1f 8.1 [40.0 |10.4 | 6.0
4 9.0 0.7 ] 45 N 7.2 N 7.0 |NNE 4.1 |WNW 123 [WEfR RS |0 H1J10.3 [50.0 | 9.5 | 6.5
5013.0 | 1.4 | 7.0 [N 4.6 |ESE 3.0 |SE 3.6 |WNw 8.2 [ i H2010.6 [30.0 | 8.4 | 3.8
618.1 | 3.4 |10.3 N 1.0 [sw 4.0 |sw 7.7 |w 4.6 |MiaE R =AW H4f 9.1 |25.0 | 1.8 | 3.0
71 9.8 0.8 4.6 N 5.2 IN 6.0 |NNE 3.1 |ENE 9.3 [wiwsm. menaws |FHERE2 2 L300 40| 41]50
8j10.1 | 3.0 | 6.7 N 2.6 |ENE 3.0 |ESE 3.1 |WNW 3.6 |ZE%IE i H1l 55 6.0 7.1 | 4.7
9f12.5 | 3.5 | 7.4 |E 3.6 |ENE 4.0 |sw 5.7 |\ 6.7 |mF i H1j10.2 [10.0 | 6.9 | 6.0
100 9.7 2.6 | 5.9 |N 5.2 |ESE 4.0 |ENE 2.1 |nw 11.8 [Ffg—Wp  |HE— W H1jJ 9.5 150.0 10.3 | 5.3
11ji2.9 | 2.4 | 6.5 |N 2.6 [S 4.0 [Wsw 5.7 |W 6.2 |ME% IRl Pehii H1f 9.3 [30.0 | 6.6 | 6.1
12012.2 | 2.5 | 7.7 IN 3.6 |ENE 2.0 |ESE 4.1 |WNW  10.8 |HE—WFHE |2 —FERS [H 2]10.1 |40.0 | 8.7 | 5.2
13§17.0 | 5.7 |11.2 N 1.0 |ENE 4.0 |SSE 2.6 |WNW 3.1 | P i H4f11.1 [15.0 | 3.7 |-1.3
14§20.0 | 7.5 [14.2 [sw 7.7 |sw 8.0 |SSw 7.7 |WSW  10.3 |2—mEE A e e H4) 7.6 [20.0 | 0.4 | 4.3
15§14.4 [10.5 [11.6 |NE 3.1 |NNE 2.0 |ENE 3.1 |ENE 4.6 |2 . 2 L2)o04]100]|42] 26
16§13.4 | 3.3 | 7.7 |N 2.1 |ESE 3.0 IN 10.8 |WNw 6.7 |F5H~ 2 i H1| 4.4 250 7.8 | 7.4
170 9.3 | 1.5 | 4.6 |NNW 5.7 |NNW 6.0 N 5.7 |w 11.3 |F5#%s i — R H1] 7.7 [50.0 |11.1 | 7.5
18] 9.7 1.4 | 6.1 [N 3.6 |SSE 3.0 |SSE 4.1 |Nw 4.6 | W H2J11.3 [40.0 [10.2 | 3.3
19§17.9 | 8.0 [12.6 |WSW 7.2 |wsw 7.0 |sw 7.7 |wsw 7.7 |BHr & i H4) 7.3 |35.0 | 3.6 | 3.0
20017.5 | 9.3 |13.8 |N 2.1 |ESE 3.0 |Ssw 4.6 |ESE 4.1 | B IRf & F H4) 7.7 |20.0 | 5.3 | 0.9
21f17.2] 7.5 [10.9 |N 6.7 |NNE 4.0 INE 4.6 |Wsw 1.0 | ki 55 L2foo ] 25][-09]|57
221 7.5 |1 5.6 | 6.7 N 6.2 [N 4.0 IN 3.6 |ENE 5.7 |/ R 4 2 F3loo]|s8o|e61]48
231 9.5 | 2.0 | 6.4 [NNE 3.1 |E 4.0 |ENE 2.6 N 8.7 |&—memsoens« i [ —mpmznmis | F 3] 2.3 [25.0 | 9.4 ] 8.0
24] 8.2 1 2.7 | 5.3 N 1.5 |ESE 2.0 [E 2.6 |ESE 3.1 |2%—wg |6 H2| 3.4 [30.0 | 86| 2.4
25014.1 | 3.3 1 7.7 |ESE 1.5 |SE 4.0 [SSw. 6.7 JWNW 41 fHERE-BERY[HIERHE H4)] 8212001 60|75
26]13.0 | 4.1 | 7.5 |\NW 6.2 IN 9.0 |NNW 8.2 |WNW  13.4 [W§ % — R H1j10.6 [30.0 | 9.8 | 6.3
27111 | 2.0 | 7.1 N 5.2 |E 4.0 |E 3.6 |[WNW 10.3 |HER—REE | BRFARE H1| 8.6 [40.0 | 9.8 ] 8.1
28]12.3 | 4.3 | 8.3 I\E 2.6 [E 3.0 |ESE 3.1 |Ssw 1.5 | i H2J10.2 [30.0 | 9.4 | 4.7
29]16.1 | 5.2 |10.8 N 2.1 |E 3.0 |ssw 4.6 |WNW 5.7 |ben i H2J11.5 |20.0 | 5.1 | 2.6
30017.1 | 7.7 |11.8 N 3.6 |ESE 2.0 |SE 5.2 |E 2.6 | B H2J11.3 |15.0 | 8.5 | 6.1
ST AT 760 oA SSE O T ERE TR0 S I LA LA 15 582 AU SOOI BN B
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